@Zﬂ[@ @®@))») (0000000 O0H-Model Linear Guides

w
4-M X &
L
ul F
h
Ho
jglzi0LGHOOOOOoOQ
oooooo ooooo 0dooo0DoooDOoOoOooOa ooooo
H H, s w 1L, w 0 Iy F | Mx¢, | T h P
LGH15 28 46 | 95| 34 56 26 26 40 | 23.4 | M4x 6 15 14 60
LGH20 30 5 12 44 67.8| 32 36 48.8| 25 M5x 8 20 18 60
LGH25 40 7 125 | 48 78 35 35 57 | 33 M6x 9 23 22 60
LGH30 45 9 16 60 99 40 40 72 | 36 M8x 12 | 28 26 80
LGH35 55 95 | 18 70 | 109 50 50 80 | 455 | M8x 12 | 34 29 80
LGH45 70 | 14 205 | 8 |1382| 60 60 | 105 | 56 |M10x 16| 45 38 | 105

012200000000

oooooo ooooooooao
190 590 IQOO 15‘00 2090

160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960

LGH15 ——t———
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960

LGH20 "ttt
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900

220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900

LGH25 —
280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960

280 440 600 760 920 1080 1240 1400 1560 1720 1880

LGH30 "ttt
360 520 680 840 1000 1160 1320 1480 1640 1800 1960

280 440 600 760 920 1080 1240 1400 1560 1720 1880

LGH35 "ttt
360 520 680 840 1000 1160 1320 1480 1640 1800 1960

570 780 990 1200 1410 1620 1830

LGH45 B s S B S B S R e —

675 885 1095 1305 1515 1725 1935

0000 | LGH25 0CG 02 x1300
ooo L

DDDDDDDDD 0oooooo
|LS BT —R
CG )= —R
VG HEJY—R
HG BRTU—R
FG BRIJ—R

186 XY —ZDIERPAOS IR



LGH series qeq® (7R

I fi I
¢d |
| |
. |
G nXP
Lomax
Mx
VS
goooo Oo00O00O0O0OOOO|ODoooOoO gooooooooo

C Co Mx My M,

G Dx dx f Lo | OO0 ts N [OkNO{OkNOPD kNOIm kNOmOJ kNOmO OkgO [£kg/mO

20 7.5% 4.5x 5.3| 4000 03 9 4 9.32 | 13.49 0.07 0.05 0.05 0.22 1.4
20 95x 6 x 85| 4000 | M6x 1 7 15 | 15.00 | 21.08 0.22 0.18 0.18 0.35 2.6
20 |11 x 7 x 9 4000 M6x 1 12 15 | 20.55 | 27.31 0.35 0.31 0.30 0.48 3.6
20 |14 x 9 x12 4000 M6x 1 10 14 | 30.74 | 41.31 0.59 0.49 0.48 0.90 5.2
20 [14 x 9 x12 | 4000 | M6x 1 8 | 14 | 4087 | 53.96 | 0.94 0.74 0.72 1.20 7.2
225120 x 14 x 17 4000 |M8x 1.25| 10 13 | 70.32 | 92.73 2.12 1.67 1.65 2.30 12.3
B : mm
goooooooo ood
2590 3090 3590 40‘00 oooo
/2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 J 4000
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
20202140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 - 4000
T T T T T T T T T T T T T T T T T T T T T T T T T 1
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
" —— 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
t t t t t t t t t t t t t t t t t t +— 4000
2145 2355 2565 2775 2985 3195 3405 3615 3825 4000

187





